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Review of Radicals

l. Practice Problems

Simplify.
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6v3 4+ 43

V7 £ 3317 6317 — 87+ 247
420 ++8+ 5

V54 — 4475 4 3./27 — V63 + 3./600
5\."? + ﬁ‘u"E - E\."ﬁ - 3\."%4‘ 4\."ﬁ
4+/18 — 51/45 — 10+/80 + /72 + 41/288
10v/99 — 44/28 — /44 + 51175 — /99

—34/54 + 24/25 + 3+/486 — 24/30

341500+ 64/135— 44/28 — /700
V27 — /200 + 3+/50 + 475
3W14(4v/21)

—3/3(—5V6)
44/21(—3+15)(—4+30)
V3(V15++/21)

—215(44/10 — 6v/21)
V21(V35+77)
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26. —3+/30(2V3 + 61/50 — \/87)
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I11. Challenge Problems

Reverse the process. Un-simplify the simplified radical form. Write as one number under
the radicand.

?\.‘E
—12411

1
2
3. Given that a and b are positive write Va®b* in simplified radical form.
4. Find and explain the mistake in the following:

W7+ 27
6v14

5. A student claims that 4+/867 + 5+ 578 is simplified because the radicands are not equal. Is
the student correct? Why?

6. Simplify: (V30 + 44/60)(v70 — 2v/21)

7. Findaif+a(vVi4) = 2v7.



Answer Key
1. 6\."'5

—4 \."?
100414
+4043

2

3

4

5. —124/35
6. 26114

7. +99y11

8. 30417

9. 10v3

10. —V7 +9v17
11.9v/5 + 2v/2
12.33y6 — 113 - 347
13. —5v/3 + 2143

14. 6612 — 555
15.25y11 + 1747
16.10 + 18v6— 2+/30
17.48y15 — 1847
18.23+/3 + 65V2

19. 8446

20. 45+/2

21. 72042

22.3y5 + 37

23. —40v/6 + 36+/35
24,715+ 7+/33

25. 1810 — 30430 — 7242
26. —18+/10 — 180+/15 — 9/290

27. -2
5

0g, 1L

29. —

30.
3.+ 2

10
32.*

33. =

34.

35. -6
Challenge Problems
1. V147
2. —/1584
3. a’*b*a
4. Do not add values of the _
radicand; correct answer 6v'7

5. No, need to simplify radicals
before determining if any
terms have identical
radicands.

6. 10421 — 6+ 70+ 8105 — 24+/21



